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&5 K 4 .Z,na; Tmb(:)@&ﬁ%ﬁ jj(:ilzcnié X 4 Tinﬁﬁg%_zg;kfF 'Z]n%{ jj(:r)fn%é X 4 ,Z,na; J:mfa(z)ott.a. jj(g')\lzcn%é X 4 J:m;b(:)wtt.a 'Z]n%{ jn(gilzcnié
; 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
Zh st 1.00 | 0.00 ~ 7.76 99.61 | FnLS | 000 ~ 7.76|2.58 1271 Fhst 1.00 | 6,00 ~ 11.10 99.61 | NS | 5,00 ~ 1110 2.38 1271
2 100kN/m%#BZ5| 1.00| 000 ~ 0.03| 10042 |3mZEBZB| — ~ — — — | 100kN/mi%E#BZ5 | 1.00 | 11.99 ~ 1207 | 100.42 |3mEHBZS -~ — — —
Zhst 1.00 | 0.03 ~ 781 100.00 | #ndst | 000 ~ 781|247 13.24 Fhs 1.00|5.00 ~ 11.99| 100.00 | =nLS | 5.00 ~ 1207 2.47 13.24
3 100kN/mM%E#8Z 5| 1.00 | 0.00 ~ 0.31 104.51 |3mZBAE| — ~ — — — | 100kN/m%#BZ% | 1.00 | 11.11 ~ 11.95| 104.51 |3mEHEZD -~ — — —
ZzhnLst 1.00 | 031 ~ 809 100.00 | =nLS | 000 ~ 809|237 12.66 ZzhnLst 1.00 | 5.00 ~ 1111 100.00 | =nst | 6,00 ~ 1195 2.37 12.66
4 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ - — — | 100kN/MZ# %3 — -~ — — |3mZERBZ B -~ — — —
Zh st 100|000 ~ 678 85.67 | =S | 000 ~ 678|270 14.46 Fhs 1.00 | 5.00 ~ 1185 85.67 | EnLSY | 5,00 ~ 11.85|2.70 14.46
5 100kN/MZ#B% % — -~ = —|[3mEEZB| — ~ — — — | 100kN/M%Z#Z % — - ~ — — |3mZERBZ B -~ — — —
Zh st 1.00 | 000 ~ 7.78 99.94 | TnLS | 000 ~ 7.78| 2.44 13.06 Fhs 1.00 | 6,00 ~ 11.66 99.94 | TNLSY | 5,00 ~ 1166 | 2.44 13.06
¢ 100kN/MZ#B % % — -~ = —|3mZEBZB| — ~ - — — | 100kN/M%Z#Z % — - ~ — — |3mZE#BZ % -~ — — —
zhLst 100|000 ~ 753 96.27 | =S | 000 ~ 753|241 12.90 Zh st 1.00 | 6,00 ~ 10.74 96.27 | EnLSY | 5,00 ~ 10.74| 2.41 12.90
. 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ# %% — - ~ — — |3mZERBZ B -~ — — —
st 1.00 | 0.00 ~ 527 65.65 | TN | 000 ~ 527|173 9.26 ZzhLs 1.00 | 5.00 ~ 56.68 65.65 | TnLS | 5,00 ~ 5.68)|1.73 9.26
g 100kN/MZ#B % % — -~ = —|3mEBZB| — ~ — — — | 100kN/MZ#Z — -~ — — |3mZERBZ B -~ — — —
Zzhn st 1.00 | 000 ~ 4.75 59.22 | #hst | 0oo ~ 000|167 8.96 ZzhLs 1.00 | 5.00 ~ 56.00 59.22 | #nLS | 5.00 ~ 500 1.67 8.96
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhLst ~ ZhLlst ~ ZzhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lo ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhnLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZzhnLst ~ Zh Lot ~ ZhLst ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh Lot ~ ZhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B% % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
Zh s ~ ZzhLst ~ ZhLlst ~ Zh s ~
100kN/MZ#B % % ~ ImEHEZD ~ 100kN/m%Z#BZ % ~ ImEBZS ~
ZhLlst ~ ZnLs ~ Zh LS ~ ZNLS ~




